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Answer the following questions
Q1: Put (√) against correct phrases, (X) against the wrong ones and state all possible corrections for the wrong statements
1- The magnification power of the microscope is the only parameter which determines its quality.   
2- Centrosomes are the building units of the chromatin.
3- To prepare tissues for electron microscopes, samples have to be fixed in reagents rich in eclectrons such as formaline.
4- Heterochromatin is the most compact form of chromatin.  
5- Cytoplasm is rich in materials required for DNA replication and RNA expression. 
6- Check points in the different stages of the cell cycle is to ensure that the only healthy cell will be able to divide. 
7- Chromosome number is constant in each cell and differs among individuals.

8- Proteins are folded in the mitochondria.
9- The lysosomal membrane is thicker than cell membrane because it is lined by carbohydrates. This lining is to give more power for stronger contraction.
10- Multi nucleated cells are cells with more than 2 nuclei.      
Q2: Choose the best answer: 
1- Chromatin fibers are the main component of 
A – Heterochromatin         b- chromosome       c- Euochromatin          d- Nucleosome
2- The ER divided into two types based on the presence of 
A- Centromeres      B- Centrosomes    C- Ribosomes    D- Riboses 
3- If a mutation occurred in a gene responsible for the production of the carbohydrates which lines the inner side of lysosomal membranes,  
A- The cell will not be affected 
B- The hydrolytic enzymes of the Lysosome will lyses its membrane.
C- Golgi will mis lead proteins
D- Mitochondria will not be able to produce ATP
4- If a person has a mutation negatively affecting the function of the SER of his intestinal cells. This person takes tablets (drugs) for his heart dysfunction. Which of the following ways these tablets should not be taken… 
A- Intravenous injection
B- Oral conception 
C- Intra-peritoneal  

D- Inhalation
5- Checkpoints are proteins which control the progression of a cell from a stage to the following stage in the cell cycle. If a mutation occurred in these checkpoints which hindered their activity, what of the following could happen? 
A- Nothing 

B- Un-controlled cell growth which could cause cancer

C- Production of new cells contain some mutations

D- Passing inherited diseases


End of Questions

Best of Luck

D. Mohamed Kamal
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